FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE




"Juas sued 8yl Uo payJew Ssiaguinu ayl 01 Yyorew Jou op asayl ‘Ajuo aduaiajad 10} aae 3[ge] Saxog JO JUall0d) ayl Ul Siaquinu lied 810N
| ' - |
Z _ ' sba Z
| H Emw |
"'ON Buimeaq uondiiosag ‘A0

S3X04d 40 LNJLNOD

Pl 1

REDWOOD ADIRONDACK CHAIR

www.ForeverRedwood.com



*9z1S uo Bulpuadap Area [|Im aiempiey JnoA Jo suolsuswiq 810N

m RERRSRRSRRSERSRRSRRS

"(1sa139eq ay1 01 sha| ayy
yoene o / 'sBa| ay 01 Jeas ayy yoene o)
s1og % € X ..9T/S

‘ON

Buimeaqg

uondiiosag

1S1TT13dVMAYVH

P| 2

REDWOOD ADIRONDACK CHAIR

www.ForeverRedwood.com



“uss sired ay) UO payJew sJaquinu 3y} 0} Yorew Jou op asay ] “AJuo 9ouaJajal Joj aqe BUIMeIq ayl Ul siaquinu 1ued 810N

159y >oeg

sba

1035

ON

NOIL1Ld140S3d

P|3

REDWOOD ADIRONDACK CHAIR

www.ForeverRedwood.com



Step 1: Place the seat (1) on the ground. After that, use 5/16”” x 3 %’ bolts (A) to attach the legs (2) to the seat (1). Each part
has a series of numbers that indicate where to attach the part with the corresponding number.

5/16"" X 3 %" Bolts

Step 2: Use 5/16°” x 3 %’ bolts (A) to attach the backrest (3) to the legs. Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

5/16" X 3 %"" Bolts

P| 4

REDWOOD ADIRONDACK CHAIR
www.ForeverRedwood.com



This completes the Adirondack Chair assembly. Hope you enjoy your set for many decades. If you ever have a problem or a
question, don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P|5
REDWOOD ADIRONDACK CHAIR
www.ForeverRedwood.com



